Choose the appropriate answer choice (Chọn câu trả lời phù hợp)
1.The doctor told Charlie to lose weight and exercise vigorously for forty-five minutes a day. 
This sentence has two independent clauses. 
This sentence has no independent clauses. 
This sentence has one independent clause. 

2. The doctor was worried that Charlie was putting on too much weight.
The section in blue is an independent clause. 
The independent clause is "The doctor was worried." 
[bookmark: _GoBack]This sentence has no independent clause. 

3. Charlie has a hard time sticking to a diet; he really loves rich, sweet desserts. 
This sentence has two independent clauses. 
This sentence has one independent clause. 
This sentence has no independent clauses. 

4. In fact, the last time he tried to lose weight, he ended up actually gaining weight. 
"he ended up actually gaining weight" is the only independent clause. 
The section in blue is the independent clause. 
This sentence has two independent clauses. 

5. Charlie has decided to hire a personal trainer because he is worried about his heart.
The section in blue is an independent clause. 
This sentence has two independent clauses. 
"Charlie has decided to hire a personal trainer" is the independent clause. 

6. His new personal trainer, whose name is Adriana Bongiorno, thinks Charlie may be a lost cause. 
The part in blue is not an independent clause. 
The part in blue is an independent clause. 
This sentence has two independent clauses. 

7. That she can make him do the exercises but not stick to the diet. 
The part in blue is the independent clause. 
This sentence has two independent clauses. 
This sentence has no independent clause. 
8. He is very good as long as Miss Bongiorno is around, but he goes to the freezer for ice-cream when she leaves.
This sentence has three independent clauses. 
This sentence has two independent clauses. 
This sentence has one independent clause. 

9. Charlie must learn that eating all those sweets may give him a temporary pleasure but that it's not good for his heart and that he would feel better about himself if he stopped eating all those rich and sweet foods that are not good for him. 
The independent clause has three words. 
The independent clause begins with the first "that." 
This sentence has several independent clauses. 

10. Miss Bongiorno is starting to make a difference, though, and Charlie is starting to make some progress.
This sentence has one independent clause. 
The clause following "though" is a dependent clause. 
This sentence has two independent clauses. 


11Top of Form
. Which of the following sentences is prescriptively correct? 
A. The space station has been damaged; therefore, we must abandon it. 
B. The space station has been damaged, therefore, we must abandon it. 
C. The space station has been damaged, therefore we must abandon it. 
D. All of the above 
E. None of the above Bottom of Form
Top of Form

12. Which of the following sentences is a comma splice? 
A. The space station has been damaged; therefore, we must abandon it. 
B. The space station has been damaged, therefore, we must abandon it. 
C. The space station, has been damaged therefore we must abandon it. 
D. All of the above 
E. None of the above 
Bottom of Form
Top of Form

13. Which of the following sentences is a run-together sentence? 
A. The space station has been damaged; therefore, we must abandon it. 
B. The space station has been damaged, therefore, we must abandon it. 
C. The space station has been damaged therefore we must abandon it. 
D. All of the above 
E. None of the above 
Bottom of Form
Top of Form

14. Which of the following sentences is prescriptively correct? 
A. There are many good examples of this in his writing, one is: 
B. The implications are obvious, the adjective golden gives the impression of good. 
C. The peacock has no monetary value, rather it is "another mouth to feed." 
D. All of the above 
E. None of the above 
Bottom of Form
Top of Form

15. Which of the following sentences is prescriptively correct? 
A. Mrs. Biber was not evil; she was just wrong. 
B. Mrs. Biber was not evil, she was just wrong. 
C. Mrs. Biber was not evil therefore she was just wrong. 
D. Mrs. Biber was not evil she was just wrong. 
E. Mrs. Biber was not evil nevertheless she was just wrong. 
Bottom of Form
Top of Form
Bottom of Form

16. What is true of the following example? "Many people probably think that politeness is simply a social lubricant." 
A. It contains a prepositional phrase. 
B. It contains an adjectival clause. 
C. It contains an adverbial clause. 
D. It contains a noun clause. 
E. None of the above. 
Top of Form

17. What is true of the following example? "The expanding economy of the 1920s created new freedom for young people, who began to break away from their families and live on their own." 
A. It contains a noun clause. 
B. It contains an adverbial clause. 
C. It contains a relative clause. 
D. It contains no dependent clause. 
Bottom of Form
Top of Form

18. What is true of the following example? "If society as a whole cannot be rejuvenated, the individual needs to work for personal certainty." 
A. It contains a noun clause. 
B. It contains an adverbial clause. 
C. It contains an adjectival clause. 
D. It contains an appositive phrase. 
E. None of the above. 
Bottom of Form
Top of Form

19. What is true of the following example? "He did not care about why I wanted a dog." 
A. It contains a noun clause. 
B. It contains an adverbial clause. 
C. It contains an adjectival clause. 
D. It contains an appositive phrase. 
E. None of the above. 
Bottom of Form
Top of Form

20.  What is true of the following example? "The man whose dog you wanted is here." 
A. It contains a noun clause. 
B. It contains an adverbial clause. 
C. It contains a relative clause. 
D. It contains an appositive phrase. 
E. None of the above. 
Bottom of Form
Top of Form

21. What is true of the following example? "College students who spend four years on their degrees generally make more money than graduates of two-year colleges." 
A. It contains a restrictive noun clause. 
B. It contains a non-restrictive noun clause. 
C. It contains a restrictive relative clause. 
D. It contains a non-restrictive relative clause. 
E. None of the above. 
Bottom of Form
Top of Form

22. What is true of the following example? "You might hurt yourself if you don't watch out." 
A. It contains a noun clause. 
B. It contains an adverbial clause. 
C. It contains an adjectival clause. 
D. It contains an appositive phrase. 
E. None of the above. 
Bottom of Form
Top of Form

23. What is true of the following example? "A man had just married an automobile." 
A. It is a simple sentence. 
B. It is a complex sentence. 
C. It is a compound sentence. 
D. It is a compound-complex sentence. 
E. None of the above. 
Bottom of Form
Top of Form

24. What is true of the following example? "The ape is accepted, and sits quietly smoking a cigar and reading a newspaper, which he holds upside down." 
A. It is a simple sentence. 
B. It is a complex sentence. 
C. It is a compound sentence. 
D. It is a compound-complex sentence. 
E. None of the above. 
Bottom of Form
Top of Form

25. What is true of the following example? "He doesn't like it, but he wants it to like him." 
A. It is a simple sentence. 
B. It is a complex sentence. 
C. It is a compound sentence. 
D. It is a compound-complex sentence. 
E. None of the above. 
Bottom of Form

26. Coach Espinoza who took her team to the Final Four last year might take a job with Notre Dame. 
Espinoza who took her team to the Final Four last year, might 
Espinoza, who took her team to the Final Four last year might 
Espinoza, who took her team to the Final Four last year, might 
no punctuation needed 


27. The UConn women's basketball program is among the nation's best however they play in one of the weaker conferences. 
best; however, they 
best, however, they 
best, however; they 
no punctuation needed 

28. Phuong wasn't worried at all about the exam because she had prepared so well over the break. 
exam because, she 
exam because, she 
exam, because she 
no punctuation needed 

29. After UConn won the national championsip in 1995 the coach found recruiting much easier. 
in 1995, the coach 
no punctuation needed 

30. The best production facilities are in Atlanta Georgia Boston Massachusetts and Phoenix Arizona. 
in Atlanta, Georgia, Boston, Massachusetts, and Phoenix, Arizona. 
in Atlanta, Georgia; Boston, Massachusetts; and Phoenix, Arizona. 
in Atlanta, Georgia; Boston, Massachusetts and; Phoenix, Arizona. 
no punctuation needed 

31. Raoul earned three A's last semester but his one downfall was Advanced Algebra. 
semester but, his 
semester, but, his 
semester, but his 
no punctuation needed 

32. He told his customers what they wanted to hear that he would stand behind his product. 
what they wanted to hear, that he 
no punctuation needed 
what they wanted to hear: that he 
what they wanted to hear; that he 

33. His favorite television programs are Homicide NYPD Blue ER and Chicago Hope. 
are Homicide, NYPD Blue, ER, and Chicago Hope
are: Homicide NYPD Blue ER and Chicago Hope 
are; Homicide NYPD Blue ER and Chicago Hope 
no punctuation needed 

34. "My Old Kentucky Home a tune by Stephen Foster, is Kentucky's state song. 
Home" a tune 
Home", a tune 
Home," a tune 
no punctuation needed 

35. Community colleges which didn't exist prior to the 1950s have proved very popular in the U.S. 
colleges, which didn't exist, prior to the 1950s have 
colleges which didn't exist prior to the 1950s, have 
colleges, which didn't exist prior to the 1950s, have 
no punctuation needed 

36. The Computer Services Department spent most of its money on upgrading old computers and installing new machines in the Learning Assistance Center. 
computers, and installing 
computers, and, installing 
computers and, installing 
no punctuation needed 


Check the correctness of the underlined part, and if it is grammatically incorrect, please choose an appropriate answer choice to fix the errors.
(Kiểm tra phần gạch dưới đúng ngữ pháp không, và nếu nó không đúng, bạn hãy chọn một đáp án phù hợp để sửa lỗi sai)
1.  Found even in ancient Egyptian mummies, the parasitic Guinea worm became the focus of a global public health campaign in 1986; this species of parasite has declined for two decades, and may finally be eradicated from the earth by 2010.  
•   Found even in ancient Egyptian mummies, the parasitic Guinea worm became the focus of a global public health campaign in 1986; this species of parasite has 
•   Being  the  focus  of  a  global  public  health  campaign  since  1986  and  found  even  in  ancient Egyptian mummies; the population of the parasitic Guinea worm has 
•   Having been the focus of a global public health campaign in 1986, it was found even in ancient Egyptian mummies; the frequency of the parasitic Guinea worm 
•   Being found even in ancient Egyptian mummies and having been the focus of a global public health campaign since 1986, the frequency of the parasitic Guinea worm 
•   Having been found even in ancient Egyptian mummies and being the focus of a global public health campaign since 1986, the parasitic Guinea worm species 

2.  Alpacas'  fleece  is  worth  surprisingly  little  compared  to  their  market  value;  a  top  breeding specimen  bringing  upwards  of  $100,000  even  if  five  pounds  of  fleece  fetches  only  $80  to $240.  
•   Alpacas'  fleece  is  worth  surprisingly  little  compared  to  their  market  value;  a  top  breeding specimen bringing upwards of $100,000 even if five pounds of fleece fetches 
•   Alpacas' fleece is worth surprisingly little in comparison with its market value; a top breeding specimen bringing upwards of $100,000 while five pounds of fleece fetches 
•   The fleece of the alpaca is worth surprisingly little compared to its market value, while a top breeding specimen can bring upwards of $100,000 even though five pounds of fleece fetch 
•   The fleece of the alpaca is worth surprisingly little compared to the animal's market value; a top breeding specimen can bring upwards of $100,000 while five pounds of fleece fetch 
•   The worth of the alpaca's fleece is surprisingly little compared to the animal's market value; a top  breeding  specimen  can  bring  upwards  of  $100,000  even  though  five  pounds  of  fleece fetches 
 
3.  During the past decade, the labor market in France has not been operating according to free market principles, but instead stifling functioning through its various government regulations restricting the hiring and firing of workers.  
•   principles,  but  instead  stifling  functioning  through  its  various  government  regulations restricting the hiring and firing of workers 
•   principles,  instead  it  has  been  functioning  in  a  stifled  manner  as  a  result  of  various government regulations that restrict the hiring and firing of workers 
•   principles, rather functioning despite being stifled as a result of government regulations that variously restrict worker hiring and firing  
•   principles;  the  hiring  and  firing  of  workers  is  restricted  there  by  various  government regulations, its functioning being stifled 
•   principles;  instead,  its  functioning  has  been  stifled  by  various  government  regulations restricting the hiring and firing of workers 
 
4.  The relationship between cell phone use and the incidence of brain tumors is still unclear, this is because some studies show a causal relationship while others do not.  
•   is still unclear, this is because some studies show 
•   is still unclear; some studies show 
•   are still unclear because some studies show 
•   is still unclear because: some studies show 
•   is still unclear; the reason is that some studies show 
 
5.  In his laws of motion, which now form the core of classical mechanics, Isaac Newton clearly and  concisely  introduced  three  important  physical  ideas:  the  concept  of  inertia,  the relationship between force and acceleration, and the coupled nature of forces.  
•   three  important  physical  ideas:  the  concept  of  inertia,  the  relationship  between  force  and acceleration, and the coupled nature of forces 
•   three  important  physical  ideas;  the  concept  of  inertia,  the  relationship  between  force  and acceleration, and that forces were coupled in nature 
•   three important physical ideas; the concept of inertia, force and acceleration were related, and the coupled nature of forces 
•   three important physical ideas, the  concept  of  inertia,  the  relationship  between  force  and acceleration, and he also introduced the coupled nature of forces 
•   three important ideas that were physical  in  nature:  the  concept  of  inertia,  the  relationship between force and acceleration, and the coupled nature of forces 
 
6.  In the 1980s advertising revenues accounted for approximately 40% of operating profits of a typical local newspaper; in the 1990s this proportion increased to 57%.  
•   newspaper; in the 1990s this proportion increased to 57%. 
•   newspaper; in the 1990s they increased by 57%. 
•   newspaper, in the 1990s they increased to 57%. 
•   newspaper; increasing to 57% in the 1990s. 
•   newspaper, which increased to 57% in the 1990s. 

 7.  Congestion pricing, the practice of charging a fee for driving into the busiest areas of a city at the busiest times; it has more support from economists than do politicians.  
•   at the busiest times; it has more support from economists than do politicians 
•   at the busiest times, has more support among economists than among politicians 
•   at the busiest times; it has more support among economists than among politicians 
•   at the busiest times, has more support from economists than do politicians 
•   at the busiest times, it has more support from economists than from among politicians 
 
8.  Municipal governments are beginning to  confront  the  growing  pension  liabilities;  this  leads local politicians throughout the country to become increasingly  vocal about restraining costs and limiting services.  
•   the growing pension liabilities; this leads  
•   their growing pension liabilities; leading  
•   the growth in their pension liabilities, which leads  
•   their growing pension liabilities, leading  
•   their growing pension liabilities, that leads 
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